0.4 Activity on node type of network analysiginvolves
{a} PERTscheduling
{b} OPST scheduling
(c) CPMscheduling
{d} Barchartschedufing

Q.2 Miastonechartis animprovement over
{2) Barchan
{p} CPMscheduling
{b} PERT scheduling
{d) Altof the above

Qa T} -Ti~t; represent ..
(a} TolaliFioat ‘o) FreeFloal
{c} IndependentFloal {d) Interlering Fioal

0.4 Which of the following is nol a Weakness of bar
chait?
{g)} Suitable only for small job.
{b) Costcantrol can rol be achieved.
{c) Optimum use of menand machines can not
badane.
{6} Nonsofthese

Q.5 There are four consecutive aclivities in a simple
finear network, each wilh mean duralion p and
first two with ‘2K as the standard deviation, third
with 'K as the standard deviation and fourth has
2e10" standard deviation. The overall project
duration through thase activities is likely lo be in

therangs
{a) 4uz2k {b} i3k
{c) 4ux5k {d) Aut9k
06 The total number of erors in Whe given A-O-A
network are ;

Q7

ERT:
et A

el

@ 1 by 2
3 - {d} zero

The timer by which a particular aclivily can be
delayed withoul affecling the preceding and
suceeading acliv_irias isknown 8s

- {g) TolalFloat

* QB

{b) FreeFat- '
{c} Interlering Float
{d) Independent Float

Which of the lollowing s not a PERT evenl?

- {a} Sileinvestigation staned.

Qa

{o} Sesslonalwork compleled,
{c} Bus slarts rom Jaipur.
{d) Class s belng altended.

Consider Ihe foliowing statements regarding AON

diagram:

1. Each aclivily is tepresented by a circlo,

2. The successor of the activily is connecled
byadirecled anow.

3. Thenumber of the activity and the amount of
time required lor its complalion are inserted
inthejobnode. © 4 '

4. AnAON nelvork contains a noda for the start
and a nod lor a finish'o! the project.

Which of these slatemanis are carreci?

{g} 1.2and3

{b) 2, 3and 4

{c) 1.3and4

{d) 1.2.and4

Q.10 The independent floal atfects only
{a) preceding activilies
{b) succeeding activilies
{c} tha parlicular aclivily involved
(d) noneol the above

Q.11 Malch Lisl-} with List-1l and seiect the corect
answer using he codes given below the lists:
List-l ) List-1)

. A, Total float 1. T=Ta=y,

B. Independentfioal 2. ¥/-Ti-t,

C. Freslloal a 7-1-y,
0. Inlerfering float 4. §,
Caodes: -
AB C D
@1 2 3 4
2 4 1 3
@2 3 1 4
{2 1 3 4

Q.12 In the network shovn in figure, total ltoat for the

activily 2-4 will ba acrivity duralion (in days} is
showninarow.

{al 3 b 2
e 1 (d) zero

Q.13 Probability of finishing of a project earlier than
expecied lime is
{a) 100%
{c} morethan50%

{b} lessihan 50%
{d) Noneolihese

Q.14 The ‘olal number of errors in the given AQA
nelwork is

{a) 1 {b) 2
ic) 3 (@) 4

0.15 Whenever an aclivity has zere total float, lhen

(2) free lloat of the aciivity musl be zero but
independent (loat need notbe zero

{b) independent floal need not be zero

{c} iree (loal and independent float boih must
bazero

{d) Irea float and indapendent ffoal koth need
not be zero

Q.16 Acrilical palh has
(3) zeroslack
{0 r_naximum g{ack

{b) minimum slack
{d} inlinite slack

Q.17 Interfering (loat i$ the ditference between
“{8) 1clal floatand Iree (loat
1) tota! lloal and independant lioat
{¢) Iree fioarand independent lloat
{d) none ol the above

0.18 If the scheduled comptetion time for 2 particular
‘projoctis 18 veeks and its eadiest expected time
is 20 weeks, then Ine slack lima for Ihe projectis
{a) 2wesks
by O
{c} —2weeks
{d) none of the above

©.19 Slack lims in PERT analysis
" (a) is minimum for critical activities
(o) can never be lass than zero
() canaever be greater than zero
{d) is always zero [or crilical activily

Common Data for Q. 20to Q. 23
For a small projecl vith five jobs, the following dalais
given:

Job Immediale Duration  Mean

Predecessor  {Days) Slandard
A - 10 2
8 - S 3
C A 16 2
D A 12 2
E 8.cC 15 1




Q.20 The sarliast expecled time is

(a) 29days (b) 31days

(c} 37days {d) 41days
Q.21 The latest expected fims is

() 29days (b) 31days

{c) 37 days (d) -41 days
Q.22 The critical path is

@ 1-2-3-4 b) 1-2-3.5 -

© 1-2-5.% {d 1-2.4.58
Q.23 The variance of ¢rilical palhis

(8) 6days {b} .7 days

{c) 8days - (d) 9days

Queslions 24 end 25 are based on the dala given
below:
A project plan is given befow:

Activity  Time Duration Predacessors

{in wegks) .

A 2 None

8 2 Nene

C 7 A

0 12 A

£ 10 &

F 3 D E

G 1 CF
APERT network is shown in the ligure below:

BB

" o7 ./ 4
2 12N %3
4

8 £
2 10

Q.24 The critical pathis

| @ 1-2-4.5.¢ ) 1-3.4.5.5

! €) 1-2-5.86 {d) 1-2-3.4.5.5
;’ .25 The project duralion is

I (a) 10days (o) 12days

. (c} 15days - {4} 21days

.26 If an aclivity has its optimistic, most likely and
pessimislic limes (in days) as 2, 3 and 7
respeclively then ils expecled time and variance
are respectively

{a) 3.5and5/6

(D) 5and 25/36

(¢} 3.5and25/36

{d} 4and 55

|

jJ,27 It hé optimfstic time, mos likely time and

i - pessimislic limes for aclivity Aare 8, 12 and 16

\ respeclively and for aclivity Bare 10, 11 and 18

l raspeciively, then .

! (a) expacted lima of aclivily A'is grealer than

b the expecled time of aclivity 8

{b} expected tims of aclivily & is greater than
the expecled time of activity 4

{c) expecledtime of both aclivities Aand Barg
same

{d) None of the above

.28 Free float is mainly used to

(a) identify the activitigs which can be delayed
veithout affecling the total floal of praceding
aclivily

{b) idenlify the aclvities, which can be delayed
without allecling the total float of succeeding
activily

(¢} identify the aclivities which can be delayed
without alfecling the rotal floal of preceding
aclivily

{0) eslablish priorilies

€1.29 Slack is

{2) same as del ay factor

(b) tolerance, intarms of lime, for an aclivily
(c) earliest expecled time - atest allowable ime
(d) latest alowable time - carliesl expected ime

f
f
f
|
|
|

Q.30 Negative slack oceurs when
(a) dummy aclivities de nol exis|
{b) dummy aciivities are large in number
(c) evenis stick lo their schedule
{d} def iciency of resources occurs

Q.31 In PERT, the dislribution of aclivity times is
assumed (o be
(@) Nommal {b) Gama
{c) Bola (d} Exponential

Q.32 Ifthe valug of variance is more
{8) certalnty is high
(D) probability of cantainly is high
{€) uncertaintyis high
{d} probability distribution curve shall be having
'an unsymmelricat shape

Q.33 CPM analysis presumes that
{2) aclivities are divideg properly ang carried oyt
(b) lmes are relaled to cosls
() events are logically devised & slipulated
(d} all uncertainties involved have been
accounied for .

Q.34 Latest start of an activity is always
{a) greater than or equal I latest event fime of
preceding node
(b} less than or equal to fatest event tima of
Preceding node
{c) equaltolalest event time of preceding nods
(0) 'less thanlalest event ime of preceding node

Q.35 In the network shown in the figure, the activily
4-5canbe started only when

(3} activity 2-3is completed
(b} activity 2-4 is complaleg
{c} activity 3-4 is completed
{d) aclivity 2-4 and 3-4 boin are compleled

Q.38 According lo Fulkerson's nule, whal are the comredy
eventnumbers corresponding toevenis A, 4, <,

0. E, Fand G ol the network shownin the figure
below?

{a) 1.2,3,4,5,6and 7 respectivaly
() 1.3,2,4,5, 6 and 7 respaciively
) 1,2.3,5,6,4and7 respoclively
{d) 1,3,2.5,8, 4and7 espectively

Q.37 The given figure shows the arow diagram for a
particutar project. The drrow Ais known as

(a) critical aciivity
- (b} toglcarrow

) dummy activily
{d) subcritica activily

Q.38 A'merge gvent'is repreéen!ed by
1

@
k]
2
1 3
) 4

© J_,@

1 3
ﬁ ®
GJ] y s

Q.39 For the palh ¢f a cerlain network shown in the
given figure, the expecied ime and Slandard .
. deviation will be respoctively '



{8} 15and 1.5 {b) 20and 1.75
{c} 15and 1.62 {d) 20and1.93
Q 40 Consider the foliowing statements:

‘Tha eritical path in the network plangof 2 project
1. helpsin planning elficient ime schedule

2. ingicates the shortest path in time

3. helpsin crashing the project judiciousty

4. helpsinencouraging discipline in execution

Which of these stalements are cotrect?
{a) 1,3and 4 - {b) 1.2,3and4
{c} tand4 (d} 2and3

Q. 41 Maamheepmlselpamsmapaﬂof anetwork
between a bursting nade anq tha next mergtng

noda with only ons sctivily in each path: The
minimum number cf dummy anmows necded iwill

o ba .
(@ ze {a)
{cy 2 {d). 3

Q.42 MachList-l (Activity iypes}with Lst-1l {Property
of aclivily} and salect the correct answer using
the codes given balow the lisis:

List-t
A. Crilical activily lo be crashed first o reduce
projectduration
B. Critical activity
C. Dummy activily
D. Subecritical activily
List i
1. thasatioal
2. Khasleast cost slope
3. hmainlains logic of nelwork
4. It has no float
Codss:
A
(@ 1
o 3
far 2
{g) 4

W oa - N
MW O
- - 0 O

0.43 For an aetivity I-f, the early evenl limes 3
respectively are 5, 24, 9 and 29.(EST = 5,
LST=9, EFT = 24, LFT = 29). The aclivily
duration is 6. Match List-1 {Floal) wilh List-ll
{Duration) and select thg correct answer using
the codes given below the lisls:

Lt List-H
A. Free 1.5
8 Total l2g9
C. Interdsring 3. 13
0. Independent 4, 18 i
Codes:

ABCD
fa) 4 3 1 2
® 3 4 1 2
© 3.4:2 1
4821

.44 Consider the following statements:

CPid ne‘mk helps an engineer lo

1. ccmentra[e his attantion on crilical aclivities

2, divert the resources from non-critical
advanced aclivities (o ¢rilical activites

3. be cautious in avoiding any delay in the
critical activilies in order to avoid delay of

" the whole project

Which of these statements are cofrect?

{a) ltand2 {b) 2and3

{© tand3 (d} 1,2and 3

Q.45 Considerthe following features/faciors:
1. Projecls are of the non-repetilive type,
2. Time required need not be known.
3. Time required is known precisely.
4. Emphasis is given 1o aclivilies of project.
For which of thase fealures/factors PERT is
proferred for planning ?
{a) 1.2and3
{c} 1,2and4

{bj 1,3and4
{} 1,2and3

Q.46 The network rulos are comman 1o all activily
on-arrow netwarking systems. The use of
compulers for making compulations may impose
cettain rules. Which of the (ollowing basic rules
of notwork logic ara correct?

i

1. Belora an aclivily may begin, all the aclivilios
praceding it must be complete.

2. Any lwo events may be direclly connecled
by not more than cne aclivily.

3. Event numbers must nol ba duplicated in a

nowork.
Select the correcl answer using ihe codes given
below:
{a) 1and2 {b) 2and3
{© 1and3 (d) 1.2and3

Q.47 Lalest start of an aclivity Is atways
{a) greater than or equal (o lalest event lime of

qreceding node
{b) less than or equal (e latest evenl tima of

precadingnode .

{c} equal [g]ulest evenl lime of precading nade :
{d) lessthan Jatest event time of preceding node |,

Q.48 A falher notes that when his teenago daughter
uses Ihe telaphone, she takes not less than
& minutes for a call and some limes as much as

an hou. Filteen minutes call are mors Irequent|!

Ihan calls of any other duration. If these phono
calls ware an activity in PEAT project, then phone
calls expectad duration will e

{a) 15minutes {b) 20.143 minules
(c) 21 minutes (d) 27 minules

Q.49 Slack time in PEAT anglysis
{a) canneverbe grealer than zero
{b) is ahvays zero for critical aclivilies
{c) cannaver beless than zero
(d} is minimum for crlical events

Q.50 The probability of completionof any aclivity withic
ils expected ime is
{a) 50%
{c} 99.9% -

Q.51 Match List-l {ltom) and with Lis(-Hl
{Characteristic) and select tha correct answer
using the codes given below the lists

List-1
A. Aglivily
B. Event

{b) B4.1%
{d) 100%

'

!
1

. Dummy
. Float
List-li
Resourcelass element
Resource consuming element
. Sparelime
inslanlaneous slage
Coclss
A
@ 1
by 2
&) 2
@ 3 4

r2onp=s DO
A oW

P O Y ]
[CIEARARE N wi

Q.52 When a CPM nalwork is lo be updaled ona
considers
(a) only compleied jobs to be outside the
purviews -
{b) ongaing works to be oulside the purviews
{c) only subslituted items
{d} ongolng works and any other substilulions

Q.53 Conslder the following slatements:
In the crilical path mathod of conslruction
plannmg, Irea lloat ¢an be

“1. greater than (otal iloal
2. greater lhan Independent float
3. equal lotolal floal
4, lLessthanindependent float
Ol these slalemants
(a) 1andd4arecarrect
{b) 2and3arecariecl
{e) 3and4arecorrecl
(d) 1and 2 arecorrecl

Q.54 In a CPM network the activily is non critical if
{a) EST=LST&EPT=LFT
{b) EST <LST&EFT <LFT
{c) EST>LST&EPT > LFT
(0) EST < LST&EFT > LFT

Q.55 ina bar charl the verlical axis represents
(a) Time
{h) Types af activities
()} Number of labours
{d) Various aclivitics of the project



Q.58 Malch List-l will List-ll and select the correct
answer using the codes given below the lists:

List-1 List-ll
A. PERT 1. Aclivity based
B. Nede 2, Imaginary aclivity
C. Butnmy 3. Endaljob
D. CPM 4. Eventorignled
Codes:

A B C D
@1 2.3 ;4
)4 3 2
1 3 2 21
@4 2 3 1

Q.57 Match List-l' (Activity type) with List-1l
{Representation by) and select the correct answear
using Ihe codes given below Ihe lists:

List-

. Arificially introduced

Crilical

. Noncrilicaltype

. Dargler

List-1t
Asingle thick arrew
Asingle arrow

3. An arrow emerging from an event but not

entering inlo any avent

4. Adolied arrow

o0 @ »

[\

Codas:
ABCO
fa) 4 1 2 3
2 3 4 1
© 4 3 2 1
@2 1+ 4 23

Q.58 Consider the loliowing staterments:

1. Adummy activily is arlificially inroduced in
anelwark when riecessary.

2. A dummy aclivity consumes some lime.

3. Adummy activity is represanied by a dolled
anagw,

4. A dummy actvily must necessarily be
inlroduced in every netviark

Wiich of the above statements ara correct?

@ 1.2and 3 (b) 1and3

{c) 2.3and 4 {(d) 1and2

|
|
|
|

i
1

.58 An AQA network comprising of 8 aclivilies, with
3 dummies, drawn belween 8 event nodes is
shown, A corresponding AON network will have
other than a dummy noticnal node at the terminal
side, K number of links between the aclivities
represenled as nodes, where Kl be:

@ e g
{) 10 @ 13

'.60 Assertion (A): PERTis a determinislic model.

Reason (R): PEAT makes the assumption that

the opnmislrc and passimislic imes are about

equaliy l-ke!y lo occur,

{a) both A and R are true and R is 1he correcl
explanalion of A,

(b} both A andR are true but A Is not the correct
explanalion of A,

(c) Ais true bul R s false

{d) Als{alse bulR is true

Q.6

-

In drawing ACA network and making time
computalions, (he following processes are
involvad;

1. Aclivity listing

Work breakdown structure

Aclivity rime allorment

oo

aclivity

Activily dependencies

Floal compulations

Backward path computalion

Project duration

Forward paih computation

Whal is Ihe correct sequence of the processes
given above?

(@) 1,2,4.3,9,7.5,6,8

(b) 2.1,4,3,59,8,7,6

LE@NOOG

Consideration of available resources foreach

) 4.1.3.29,5,7.8.6
{d) Any sequence can he follovred but 6 and 7
will be last iwo ongs,

Q.62 Wmch are the crilical activilies of the bar chart
shown below?

Activitlos ———s-

Timo n duys —

(a) Aclivilies Band £
(b) Aclivilies A Dand F
(c) Aclivilies A, Cand £
(8) Aclivilies A and F

Q.63 Whatdnes higher standard devialion implyincost
analysis?
(&) Higher uncenainty
{b) Loweruncenainty
{c} Nothing1o do wilh uncertainty
{d) Exlra cosis are likely.

Q.84 With reference to the nelwork shown in figure,
which statement is incotrect?

’ |
() Evenis 3 and 4 oecuralter event 2
() Event 7 canoceur atter evenl 4

(¢} Event7 precedes event §
{d) Event 5 follows event 3

Q.85 Figura below shows the netwark for a particular
project which consists of four agtivities,

©; @ €
Mormal duration time and crash time for each

aclivily are given below:
Aclivily Normaltime Crash time
days days
S 12 3 2
23 a 2
24 5 4
C 34 7 5
Them;mmwnumereqmredformeuomlehmo(
projeclis
(a} 9days (b} 13 days
{c} 14 days g 19days

Q.66 in PERT analysis, event means
(a) siartor finish of a lack
[0) time taken for atask
3] end of an activity
{0) workinvolvad in the project

Q.67 InPERT the spanof time between the optimistic
and passimistic fime estimates of an aclivity is
(&) 3¢ {b) 6¢
(€} 12g {d} Nonaolihase

Q.68 The mast likely time (m1) is ‘mode’ of the
{8) Nonnal distribution
{b) Betadistribution
{c) Bionomial distribution
{d) None of the above

Q.69 Fulkerson’s rileis caonnecled with
{a) numbering oleventin PERT/CPM
{b) the simulating modal
{c} queuingiheory
{0) Noneallhe above

Q.70 Thevarianceof the completiontime fora pmgect
Is the sum of variance of
(@) all activity times
. {b} non-critical aclivily times
{€) critical aclivily limes
. {d) activily times of first and last activities of
theproject -



0 ?t InaPERT network, expecled project duralionis
/.. -found to ba 36 days from the start of the project,

Tha variance is four days. The probability that

the project will be compleled in 36 days is:

{8) zer0 ) %

{c} 50% {d) 8%

0 72 Which of tha Ioliowing aro the guidelines lor the
construction of a nelwork diagram?
1. Eachactivityis represented by one and caly
one amaw in the nebvork .
2. Twoactivities can be identified by the same
beginning and end evenls
- 3. Dangling must bo avoided In a network
diagram
4. Dummy aclivity consumes no lime of
esurce )
Select the comect answer the codes given batovw:
(8} 1.2end3 {b) 1.3andd
fc} 1. 2and4 {0) 2.38nd4

Q.73 Consider the lollowing statements with respect
1o PERE
1. It consists of aclivilies with uncerdain lime
phases, )
. 2. Thisisevolved from Ganit charl,
3. Totalslack along the critical pathis not zero.
4. There can be more than one critical path in
PERT network.
5. htis slmilar lo slectrical network,
. The correct siatemenis are:
fa) 1.2 (o} 2.4
c} 4.1 {d) 3,2

Q.74 The earliest occurrance time for event "' is
Bweeks and the [ales! occutrence ime for cvent
*1* is 26 weeks. The eatfiest occurrence lime lor
event '? is 32 woeks and the latest occurrence
1ime for event '2' is 37 weeks, I the aclivily lime
is 11 weeks. then the lola! lloat {in wreks) will be

fa 1 by 13
fc} 18 N

Q.75 Consider the foflowing slalemenls in respect of
PERT and CPM:

1. PERTievenl-oriented while CPM s activity-
otientad.
.is probabilistic while CPM is

3. Levalingand smoolhing ara the lechniques
relateddo resource scheduling in CPM

Which nhhese stalemenls ara cotrect?

@ 1,2 and 3 {b) Only 1and?2

{c) Only2andd {(d) Cnly1and3

Q.76 Consider the lollowing statemenis
Inthe bar charl planning
1. interd@pendence of tha oparalions cannol be
porrayed '
2. progress of work can be measured
3. sparetime of lhe aclivilies can be determined
4. schedule cannatbe updated.
#hich of these statements are correot?
(8} 1.2and3 (b) 1and4
{c) 2,3and 4 () 1,2and4

03.77 The process of Inspiring the subardinales la do
awork or achieve an objeclive is callad as
{a) Management {b) Supervision
{£} Motivation {d] Communication

.78 The problem of developing low cost housing lor
economically backward people in undeveloped
tegion should be analyzed by
{a) Ganttchan (b} CPM technique
{c) PERTlechnique (d) Milestonachart

Q.78 Ganlt cirart provides information aboul
{a) breakeven point analysis
{b) production schedule
{c) material handling iayout
. {dy determinmng sclling ptice

Q.60 Malch List-1 (Bar, chart} with List-ll
{Highlights : and is adapted for) and select the
coirect answer using tho rl;odes given below the
fists:

List-l

milesiona bar chart

Linked bar chart

. Ganttbar char

. Resource-based bar chart

ooR»

List-ll

1. Compulalion ol resources histograms

2. Actwily relalionships

3. Updaling and realigning

4, Aclivily duralion

5, Moniloring and interfaces.

Codes : :
A BCD }

@ 3 2 4 1

by 5 2 4.1 ,

c) 3 4 2 5

dd 5 4 3 1

Assertion (A} : In analysing a construction |-
project using PERT, even thaugh the lype of |:
distribution may vary from ong aclivily 1o another, J:
the distribution {unction for tho compietion of the
whole project will be approximalely of a beil-
shaped disteibulion curve.
Reason (R) : This assumplion is in accordance
wilh canlral theorem. '
{a) bolh A and R are true and R is [he correct

explanalion of A.
{b) bothAand R are trug but Ris nol the correct|,

explanation of A. :
{c) Aistrue but Ris false
{d) Ais [alse but Ris trua

c8

rg

.82 The oplimistic, likely and pessimistic tims|l.
estimates for the PERT network ol a projecl are
shown in the given figure,

OO0

(3.4,8) (4.6.8) (1.7.9)

The expected duralion of the projectis :
{a) 14 days by 17 days
(c) 17.83days {d) 18.67 days

(.83 Inarriving al a resource-based schedule bar-char
for a construction prajecl, The following stages
far planning of the work are involved :

1. Finahsing a network of aclivities.
2. Determing the aptimal aclivity durations, and
considering ihe relovant parameters.

3. Compulalion al lime.

4. Developing ihe tesource-based bar-chan and
the cortesponding histograns and mass
curvas of resources.

5. identification of the critical constraining
resource.

6. Deciding the crileda lor optimisation.

The correct sequence ol thesestages in planning

of lhe work will be

(@ 1,6,2.3,5.4

{n) 6.2 1,345

{c) 1.2,3.6,5.1

{0) 2.1.3.5.6.4

Q.84 In a project logic, four activitias M, M, OQand P
are required o be compleled balore starting
aclivity @ If the finish limes of M, N, Qand Pare
12 days, 14 days, 15 days and 17 days
respeclively, the earliest event occutrence time
for lha activity Qis
{a) 12days
{c) 15 days

{b) 14 days
{d) 17 days

Q.85 Assertion {A) : The defay in the performance of
a erilical aclivity will delay ihe completion ol the
projecl.

Reason (R) : The fleat of crilical activily is

negative,

{a) both A and R are true and R is he correct
explanalion of A,

(b} hoth Aand Rare trua butBis not the correcl
explanationof A.

() Aislrue but Ris false

(d) Ais lalse bul Ris rue

Q.86 Assertion {A) ; A project consists of threa main
paths {through aclivities) running from slart avent
to end event-through there may be subpalhs in
any or all of these main paths, In such a case,
the probability of completion by the expecled
project duration is /3.

Reason (R) ; The probability of completion by
the oxpected duration is directed by 1he (hree
main palhs. as they exist.



{3} both A and R are true and R is the correct
explanation of A.

(b) bothAandRare true but R is nol the corract
explanalion of A,

(€} Alstrue bul Ris false

(d) Ais false hul R is Irue

Q.87 Whichone of the tollowing statemenis is correct
for every activily in a network?
(a) Inlerference lloat can never be negalive
(b} Independent floal can exceed free iloat
(c) Total float can excead free floar.
(d) Inlererence floot and independent float may
be equal 10 each other in magnitude.

Q.88 Two alternative proposals A and 8 having the
tolloviing fealures aro available for implereniing

aproject:
[Projoct a 8
Moon projed deraiory 150 | 160
Surldnrd dn?'mlhn of - T
projoct duration

Which are of the lollowing is correct in relerence

lo the prelerence between the proposals Aand

B?

(a) The decision cannot be made for lack al
sufficientinformation.

(b} Any cne of Ihem can be chosen

(c) Aispreferred o 8.

(d) Bisprelerred o A

Q.89 Consider lhe following slalernents :

Total loat is

1. the tine span by which the starling (or
fraishing) of an activily can be delayed
vithoul delaying completion of the project.

2. dillesenco belweaen maximum time available
and the aclual lime sequired to perform the
aclivity.

3. difference betwecn its earliest finish time and
he earliest start time of its successor aclivity,

Which ol these statemenvs isfare correel?

(a) 2and3 (b) 1,2and3

c) tonly (d) 1and 2

Q.90 Values of standard Norma! Dislribution functions
areexiracled as under :

2 Value
0.20 058
025 060
0.30 062
0.35 0.64
0.40 0.655
0.45 0.674
0.50 063
0.55 a7
0.60 0.726
0.65 0.742
0.70 0.758
0.75 0.773
0.80 0.788
0.85 0,803

In a given PERT network, Inere are two parallel
paths A and 8 from baginning lo end with the
" lollowing characleristics

f PathA] Palh g

Expectod durstion, D doys 85 84

Standard deviation, D doys | 125 19

Yifhat is the expectalion of the project being
completed in 80 days?
{3} 0.080
{c) 0345

(b) 0.102
{d) 0.138

1 Q.91 Consider the 404 diagram as below

Whai ié, he number of dummy links required 1o
convert it into a most concise AON diagram,
(a) & L 7
e & {d s
MEED

(e 2 () 4.40) 5 (B
(@) 2. {b) 130} 14.(c) 15. (o)
) 22 (d) 23.(d) 24.(a) 25, (q)
(@) 32 (c) 3. (o) 3M.(d) 35. (q)

- (b) 42 (c) 43.(b) 44.(c) 45. (¢}
-{e) 52 (d) 53.(8) S4.(b) S5, (q)
.(b) 62 (c) 63.(a) 6d4.(b) &5 (a)
©) T3 (b) 73.(c) 74.(c) 75. (b
(@) 82 (c) 83. () B4 (d) B5. (c)
. (0

‘o v

2,

{a}

Milestone chan is amodification ovet the or iginal
Gantt charl. When a parlicular activity,
fepresenled by a bar on baf chart is very leng,
the delails lack. If howéver, the aclivily is broken
of subdivided inlo 2 number of subactiviies each
one of which can ba saslly recognized during
the progress of Ihe project, conlroliing can easily
be done and interrelationships betwizen other
similar activitios can easily ba established.

{b)

1—&-)2

13 i3 u
= )3—%—)4—0-:5
Over all project Guration = Teto

o= ,f(?k)z +(2k]2+k'2

o=3k
T;.:u+u+p+p=4u
Hence overall project duration is At 3k
(b)
0} Two activities can not slart and end at the
same nodes.

8.{b) 7.{d 8 d 9 {c 10 {d)
6. (b) 17.{a}) 18.{c) 15.{(a) 20.(q)
26. {c} 27.1{c} 28. (8) "25. {d) 30. {d)
36. (ab) 37. (d) 38.(a) 3m.{d) 40. {a).
46.(c) 47.(a) 48.(c) 49.(g) 50.(a)
56. (b) 57.(a) s8. (b} 59.(c) s0. {d)
66. {a) &7. (b} 68.(0) &9, {a) 70.(c)
76. (b) 77. (¢} 7a. (8) 79.(b) =go. {b}
86.(0) 87.(c) 68.(d) 89.(a) so, ©
0]
@) Dummy is notrequired because the relation
is maintained by real activities.
(i}

7. {dy
Totatﬂoa!aﬂecxsbulhprecedingandsueceeding
aclivities, ]

Free lioat affects only succeeding aclivifies.

B (d}

Work is going on hence ilis an atlivity



®

Tele
ma
Since Fp= T} =T} -1y
i Feloraciiity 2-41s
., Fr=7-2-3=2days.
(6}

13.:

Probability of fiishing of project at expecied lime

" is 50%. Therelore, probabllity of finishing the

18
17.
18.

18,

20.

21.

22.

project earlier than expacl.ed iime Is less than

)

inimumn stack gives mosl ciilical path
@
Fip=Fy~ Fp= §,{Head event siack)

() ’
Slack = 18-20 =-2weaeks

{a)
When slackis zero for one path and negative for
other, then path with minimum slack is more
crilical.
(@
Earliest expectisd time
E,=0
E, = £, +1,=0+10=1days
E=£E+ f.3=3+5=5day5
€, =6 +1,=10+16=26days
E=E+1:;=10+12=23days -
E=E +l,;=26+15=41days

{d}
=T,

@
Slackis zeroalong A-C- £

for tast event

23,

24.

25.

28.

27,

" 28,

28.

48.

55,

56.

@

variance of project = 22+ 22+ 12 =9 days

(a)

Path 1 - 2 - 4-5- Bis imewise longes: path.

(d)
Prolect duration=2 + 12 + 3 + 4 = 21 days

{c}

Lttty 244x347
= & =35
Vortanca e z~_2)* .5
we=l"e ) "
)
B8+12x4+18

o Ay = —————=12
[pgors}=w=12
: &
{o)

The free float for aclivity 7 - j Is the dillerence
batween lls sarliest finlsh time and the earliest
finigh time for ils succassor aclivily.

{9
Latest allownble lime — Earliesl expecled lime
= Stack

{c})
ty+ 4y, 4,
o= o_“m_ B
E 6
- ELS"‘GB =21 minuteis
6
A
{d)

A bar chart consisls of wo co-ordinales axes.
one {usually horizontal axis) representing lima
elapsed and venical axis represents the aclivities
lohe perfarmed.

®)
PERT is evenl oriented and CPM is aclivily
basod.

57.

58,

59,

60.

Dummy Is an imaginary activily,
Mode reprasents end ol job.

(a)
Adificially introduced activily is dummy and it is
shown by a doited arrow.
Critica} activity is represented by a single Lhick
anow,
Nongritical aclivity is represenied by a single
anow.

Dangler does not enterinto any event,

(b)
Adummy s infroduced arlificialty and it is shown)
by a dolled amow. L Goes nol consume any lime.
Itis not necessary tointroduce a dummy ahways,
- Thus stalements 1 and 3 are correct.

{c)
The activity on node (AON) nelwork will be:

It consist ol 10 links.
Allarnatively finks can be calculated in g
backward manner by identifying tha acliviliey
preceding a pariicular achivity.

Activily | Links

G 2

H 3

E 1

F 1

D 1

c 1
B 1 |
Tolal | 10 i
|

(d)
PERT is a probabilistic rnadel so Assertion (A)i
wrong. Therelore answer will be {d).

64.

85.

71,

-T2

74.

(b)

Because dummy aclivily belween evenis 3and 7
imposes a raslriction on tha occurrence of event
7 unless evenl 3 also OCCUrS.

(a)
This is the sum of crash imes along the crilical
path.

(c)

Slandatd deviation (c):
Warance = J4 =2

z2=%X-X_3%-36_

a 2 0

P0)=05
- The probability thal the project will be
completed in 36 days is 50%.

(b)

Aules (or drawing Nelwork Diagram:

(i} - Eachaclvityisrepresented by one andonly
one araw/ in lhe netwark.

(i) No lwo aclivily can be idonlilied by Lhe
same end avenis.

{il} \norder Lo ensure the correcl precedenca
relationship In tha arsow diagram, following
question must be checked whenever any
activily is added to network.

{a) What aclivity must be completed
immediately before this aclivity can
star(?

(o) What activity must follow this activity?

{c) What aclivity musl Qccur
simuitaneously with his activily?

(c}
£ £ L,
Tolal float = (L - £}- 4,
L‘- = 37 weeks
E/ = Bwecks

du = 11weeks
TF =237 -8 -11 = 10 weelks



75,

82,

{b)

1. PERT is event-orienled while CPM js

aclivity-orieniad,

2. PERT is probabilistic while CPM is
determinisli,

3. Levalling and Smoothing are the lechniques
tefaled to forecasting (Simple Exponential
Smoolhing).

(c)

A-B

3+4x448 27
fp= — 2 "2 _£f days
'3 3 5 i
B-C ’E= %ﬁ:-ss—q days

B0,

C..D IE= M:ﬂsﬁ

G days

27 36 44
A l= .F—)‘_+F+T days

= %: 17.83 days

{c)
T = Maxirum of o = B5 days

o 125
- P04)=1-p 0.4)
=1-0655
=0.2345

Z=M=M—_04



